
Drive Wheels and Mounting Hardware (12-1/2" x 2-1/4")
(For TDX3 w/ 2-Pole or 4-Pole Motors) & (For TDX3 SE w/ 4-Pole Motors)

NOTE: Items 4-7 wheel mounting hardware applies to both item #1 and item #8 12-1/2" drive wheel
assemblies listed below.



Drive Wheels and Mounting Hardware (12-1/2" x 2-1/4")
(For TDX3 w/ 2-Pole or 4-Pole Motors) & (For TDX3 SE w/ 4-Pole Motors)

NOTE: Items 4-7 wheel mounting hardware applies to both item #1 and item #8 12-1/2" drive wheel
assemblies listed below.

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

1064178-NLA NLA - Drive Wheel Assembly, 5 Spoke, Pneumatic
(12-1/2 x 2-1/4")
Includes:  Locking Tab Washer with Instruction
Sheet

1 11 A

1064177 Drive Wheel Assembly, 5 Spoke w/ Foam Fill Insert
(12-1/2 x 2-1/4")
Includes:  Locking Tab Washer with Instruction
Sheet

1 11 A

1011524 Tire, Pneumatic, Grey (12-1/2" x 2-1/4") 1 12
1011525 Tube, Inner, Black (12-1/2 x 2-1/4") 1 13
1023264 Key (6mm x 6mm x 40mm) 1 14
1079247 Washer, Flat (21/64 x 53/64 x 7/64") 1 15
1064179 Kit, Locking Tab Washer w/ Instruction Sheet (Pair) 2 16
1023260 Screw (M8 x 1.25 x 20mm) 1 17
1122836 Drive Wheel Assembly, 7 Spoke, Pneumatic (12-1/2

x 2-1/4")
1 18 B

1122838 Drive Wheel Assembly, 7 Spoke with Foam Fill
Insert (12-1/2 x 2-1/4")

1 18 C
1123137 Drive Wheel Hardware, Hub and 2-Piece Rim

(12-1/2 x 2-1/4")
Consists of:
4 ea. Screw, Socket Head Cap (5/16-24 x 1")
4 ea. Locknut (5/16-24)
7 ea. Screw, Socket Head Cap (1/4-20 x 1")

1 19

1123138 Rim Assembly, Inner/Outer (12-1/2 x 2-1/4") 1 110
1122196 Hub, Wheel 1 111
1011525 Tube, Inner, Black (12-1/2 x 2-1/4") 1 112
1011524 Tire, Pneumatic, Grey (12-1/2" x 2-1/4") 1 113
1122837 Tire w/ Foam Fill Insert, Grey (12-1/2" x 2-1/4") 1 114
1122835 Cap, Hub, Spoke 1 115

A - Standard for TDX3 with 2-Pole Motor before 10/20/03. The 1 piece 5 spoke plastic rim is a non-saleable item.  
B - Includes items 9-13. (Standard for TDX3 with 4-Pole Motor after 10/19/03), (Standard for TDX3 SE with 4-Pole Motor 

introduced 11/15/06)  
C - Includes items 9-11 and 14. (Standard for TDX3 with 4-Pole Motor after 10/19/03), (Standard for TDX3 SE with 4-Pole 

Motor introduced 11/15/06)   
NOTE: Items 4-7 wheel mounting hardware applies to both item #1 and item #8 12-1/2" drive wheel assemblies listed.  

NOTE:

 


